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SELECT THE MOST APPROPRIATE ANSWER:
e .. 1-Which of the following is FALSE about the electran microscape (EM)? Sl e ;

a.uses a beam of electrans b.The resolving power is 0.2 pm
c. Transmission EM is used to examing the ultrastructure of cells d. Electromagnelic lenses are
used

2.Which of the following is TRUE about cell fractionation?

a. Tissue is first disruptad to break the cells agart without damaging organelles

b. The hormogenate is centrifuged at different speeds

c. Centrifugation at low speed and for short time separates the nuclei & cellular debris

d. All of the above -3 ur

3-Which of the following are MIS-MATCHED?

a. Prokaryotic cell f Bacteria & cyanobacteria b.1 micrometer (pm) = 107 mm
¢.Cytoplasm / Region between nucleus & cell membrane d.Aming acid/A monomer with oane

functional group
4-Select the base which is NOT present in RNA;

a. Adening (A) b. Guanine (G)  ¢. Thymine (T) d. Uracil (U)
5-Animals store most of thew energy as:
a. glucose b. glycogen ¢. Chitin d. celiulosa

_=»B-Which of the following is NOT true about the nuclear lamina
a.lines the inner surface of nuclear envelope b. lines the outer surfzce of nuclear envelope
c.Mellike array of protein filaments d.maintains the shape of the nucleus
7-What happens when a protein denatures?
a. loses its tertiary structure b losesils abilily to function ¢ hydrelysed into aming acids d. 2 and b
8-The salution of the central vacuole is called ?

£2.8a2 b Pigmonts = T=anplas! 2.4l of the 2bove

§-Which of the following arganelles contain hydrogen peroxide forming enzymes?

a. Peroxisomes h. Mitechondria c. Chloroplasts d. Lysosomes

10-Which of the following organelles has ils own genstic machinery 7

a. Peroxisomes b Mitochandria - c. Golgi d. Lysosomes

11-Which of the foltowing is FALSE about Cilia and Flageila?

a.Consist of microtubules b.Microtubulas are in 3 9+2 arrangement ©

c.The dynein is made of lipids. - d.0Oynein's conformational changes, makes cilia or
flagella bend

12-Which of the following is TRUE about Microfilaments?

a_PaﬂTcipale in muscle contraction h.Responsible for cyclosis in plant cells

e.Play a role in the extension and conlraction of pseudopodia d.All of the above
13-Which of the following are MIS-MATCHED?

a Intermediate Filaments/Keratin subunits b.Microfilaments/Compese the nuclear lamina

c.Microfilaments/Fix the nucleus in the cell d.Microtubules/Segaration of chromosomes during cell

division

14-Which of the following are NOT part of the endomembrane system? :

a. Nuclear envelope b b. Endaplasmic reticulum c. Golgi apparatus d. Peroxisome
—-==15-Which of the following crgansils is enclosed by a membrane

a. Nucleolus b. Lysosome . Ribosomes d. Centrosome -

16-Cholesteral. - X :

a. Is a member of plant cell membrane b. a steroidal animal hormone precursor

c. maintains the membrane lluidity d. b+c

. .~ 17-One of the following is NOT TRUE about the nucleus
a. Itis surrounded by 2 membranes '
b. The nuclear lamna maintains the nuclear shape
c. The nuclear envelope is continuous with the Gelgi lumen
d. Pore complex regulates maovement of some large macramalecules in the nucleus
18-Which of the following is TRUE about lysosomes? *
.~ a Theoptimal pH for lysosamal enzymes 1s abaut pH 5
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b, Lysosomes may enguli ather arganefies and digrst them
c. Cells are destroyed by their own ySOSOMEes during developrment of arganisms
= 4= all'of the above S et
1g9-Which of the foilowing is MiS-MATCHEC? RN e

a2 Chromatin / DNA & proteins o Nucleolus / Synthesises and assembles ribasomal components
c.Cristea (Endoplasmic reticulum d.Muclecid f Region af bacterial DNA

20-which of the fallowing is NOT a runctian of smooth Endoplasmic Reticulurm (ER)?

a.Synthesis of lipids and slargids b.Participates 1 carbohydrate metabolism

c.Detoxifies drugs and poisans d.in musce cell ER pumps Ca into cytosel

24-Which of the following is MIS-MATCHED?

3. Golgi appaatus / Finishes sorts and ships cell producls b. Cis [2za [ Receiving face

o Trans face/ Shigping face d. Goelgif Phagoc)tosis

29.The fallowing pair is MIS-MATCHED
&. Heneptur-media:ed andacytasis/LOL trarspart b Pinﬂwmﬂisiemcytﬁsiz of extrocelutar fuid

Lk A, e

c.Cutranspnr‘UﬁTF-driven pump d.PhEgﬂﬂjﬁDSiﬂEﬂdﬂc‘fmﬁli of particulate maller
74-The most types of molecules 1hal pass easily through piasma membrane are.

a. small and hydrophilic . 1arge and hydrophillc c.small aid hydrophobic d.large and
hydrophobic

24 \Which of the fallowing has a cell-cell racognition funchion. ]

a. phospholipids b. choline C. gWﬂ:Dprﬂieins d. cholesterol
25.\Which of the tallowing molecules is highty reduced

a. TH, b, CH;0OH ¢, CH;0 d. CO,
95.Membrane fuidty depends ol

3. unsaturation of fatly acids of the phospnelipids. b. Cholesterol C. proiein d. a+b
27-In hypertonic sglution plant cells are. :

a incraased in size : b. turgid c. narmal d. plasmalyz2d

8. e of the fnllpwing is NOT true about active transport.

a. requUireas lI'EFI_SDCIf'l proteins ' b, gcours dovin the concantialion

c. requires energy 4 nesds specific pratein for each molecule
2g.\yWater molecules MOVE into the cell if the cell is placedin ... ... solution:

a. hypertonic b. hypotonic . isolonic d. a+c

10-Which of the foliowing Does Mot occul deown a concantralion gradient:

a. gas exchange in the lungs k. sodium-pclassium pumBa

c. faciliated transpert g water absarplion by nlanls

11-Condensation reactigns are _-___reactions:

A) Anakolic B) Catabolic C) Hydrelysis D) Degradation

12.Sucrose is a dimer of: L

A Glucose B) Laciose C) Fruclose D) (A+C)

33-The following macromolacule is MIS-MATCHED with the band between its MoNOMErs

a.Glycogen/a glycosidic bond v.Hemogiobin/Peplide pond c. ANASuIghur-bond
4 DNA/Phosphodiester bond

14-The product of the hydrolysis of sucrose is: 2

g fructose & galaclose b. fructose & glucose €. galactose & glucose d galactose & laclose

15-The follawing pair 1s MIS-MATCHED :
2 a Cellulose / [ glurose ang unbranched - b, Amylose / o glucase and unbranched
c. Amylﬂpectin.l' A glucose and branched d. Glycogen /G glucose and branched
15-yWhich of the following is NOT 2 comm.an function of protein:
B defensive acticn . structural componenl c. lranspern d. energy storage
) 17-Which of th2 follawing molecuies is LEAST related to ihe others: !

a. glycerol b nuclegiide c. falty acid- d, choline

- 1§-The branched form of starch is: _
'A) Amylapectin 13) Amylase C) Glycogen D) Cellulnse

2g.What is the vollage across lhe membranes called?

A) Waler potential @) chemical gradient L) membrane potential D) clectrochemical gradient
AD-All of the foliowing e=llular activities require ATD encrgy except
A) movement of co? inte the cell :}) protein synthesis
C} Ma+ fons moving outof theesil 17} Exocytosis

 0-Mhich chapter did you find it easier?




